A cheetah is
Answer:

C1

than a lion.

A rabbit is
Answer:

than a horse.

A shark is
Answer:

than a goldfish.

A giraffe is
Answer:

than a zebra.

A bear is
Answer:

than a squirrel.

An elephant is
Answer:

than a monkey.

A snake is
Answer:

than a snail.

A kangaroo is
Answer:

than a mouse.

A crocodile is
Answer:

than a turtle.

A wolf is
Answer:

than a fox.




Answers

A cheetah is than a lion.
Answer: faster

A rabbit is than a horse.
Answer: smaller

A shark is than a goldfish.

Answer: bigger

A giraffe is than a zebra.
Answer: taller

A bear is than a squirrel.

Answer: bigger

An elephant is than a monkey.

Answer: larger

A snake is than a snail.

Answer: longer

A kangaroo is than a mouse.

Answer: stronger

A crocodile is than a turtle.

Answer: larger

A wolf is than a fox.

Answer: bigger



